
D
AT

A 
R

E
V.

D
E

S
C

R
IZ

IO
N

E
02

/0
7/

20
19

S
00

1X
  (

F)
SWING 5050
ART.:
S4090A	 S4000A	 S4010A	
S4020A	 S4030A
S4490A	 S4400A	 S4410A
S4420A	 S4430A

1 1

2 2

33

1 2 3 4 5

M6x12 M6x20

1

1

1

1

1

2

4
4

3

3
4 4

3

SWING 7020
ART.:	 S3090A	
S3000A	 S3010A	
S3020A	 S3030A

1

2

3 4 5

M6x12 M6x20

2

2

2

5
5

***
TOP P.80 ***=576 mm
TOP P.60 ***=384 mm

5

5

5

5 5

*** 576

1

1

1

1

2

2

2

1

3
4

5

5

5


